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Topic:- Physics

1)
A resistor of 10 ohm and an ideal inductor of 100mH are connected in series with a de source of 20 volt.
Find the current in the circuit. / 10 319 &T U UiaEIS oUT 100mH &I U Hedl W, 20

diee arel s €IRT | & #@el # S5 §U &, IR0 # &R AT |

£,

1.20A

2.05A
3.2A

4.02A

Correct Answer :-
« 2A

2)
The following circuit consists ofa NOR gate and a NOT gate as shown in the figure, the equivalent

circuitis of an: / TF=TeI@d Gfde F Ue NOR 31 U4 Us NOT 31 &7 @R [ &
THAGET Afthe U COgs

am)tS e

1. NAND gate / NAND 7@

2. AND gate / AND 7€

3. OR gate / OR 7T



4. NOR gate / NOR 7€

Correct Answer :-

e OR gate/ OR TI¢

3) A radioactive substance decays to 1/16'™ of its initial mass in 40 days. The half-life of the substance

in days is: / TP AT uerd 1 & 5P URAP S F 1/167 HFT T 40 R A g wman
21 yerd @1 fet # sref-sfiaa 8:

1. 10
2.25
3.20

4.5

Correct Answer :-

4) A p-n photodiode is made of a material with a band gap of 0.2 eV. The minimum frequency of the
radiation that can be absorbed by the material is nearly: / Y® p-n 3 T Udh 1ZIET?f gIRT10.2 eV
& S iaxTer & 591 8| fafewor &t =graw sngfty ot uerd gRT sraxnfa ot o Il 8, 98
T 3:

1.10x 1014 Hz
2. 1x 10" Hz
3.20x 104 Hz
4.5x 10" Hz
Correct Answer :-

e 5x 10 Hz

5) In photoelectric effect on metals, an increase in the frequency of incident radiation increases: /

UTget UR UHT=I fagad wyra #, smufad fafdswor #f emafy o g3 gfe, sa@! g wet 8:
1. Velocity of emitted electrons / I&ford sﬁaﬁ:ﬁ BT A

2. Work function of the metal / YT T HE-Had

3. Rate of emission / STl P G2

4. Threshold energy / a%Fﬁ Sl

Correct Answer :-

e Velocity of emitted electrons / Iqford 581 :Il Tf BT AT



6) Which of the following is TRUE for a series combination of resistors? / ufeiel & goft Saem &

fog Fefafeadd s e s

1. Voltage remains same only / ﬁﬂ% d\lc%\rl JH[ edl %

2. Current remains same only / Rt ﬁ’g{qﬂ YRT YA Tgat &

3. Both current and voltage remains same / ﬁgqﬂ YRT U4 dlecol GIHl TH X8d &

4. Neither current nor voltage remains same / - é’r ﬁgq?[ YRT T AT éjf diees JAM Q??f %

Correct Answer :-

o Current remains same only / R ﬁ’g{qﬂ YRT JHH ?6(‘1 %

7) Which one of the following processes/devices uses solar energy and converts it to chemical energy?

%ﬁyﬁ@ﬁﬂﬁm/ﬁxwﬁvwﬁmwmﬁaﬁ?@mwﬁﬁmﬁam

1. Photosynthesis / UhIRI BSEGLLY
2. Solar pond /IR a1

3. Solar heater / Fﬁ? didsh
4, Solar cells / ?ﬁ? Id

Correct Answer :-

o Photosynthesis / UDIR[ BEGLLY

8) Which one of the following molecules shows pure rotational spectra? / W= fear m S 3]

[ YOI ST UeRid #3182

1. N,
2. CO,
3. H,

4. CO

Correct Answer :-

9) Which one of the following can be used to produce a propagating electromagnetic wave? /

Frafafad fase o & #19 e yafia fagaq geota a1 & Idre § ygad giar 82
1. An accelerating charge / Uch @R e
2. A charge less particle / Uch 3TARTG HUI



3. A charge moving at uniform velocity / THAR o7 Y TI=Ad e

4. A stationary charge / ¥dstf MY

Correct Answer :-

» An accelerating charge / U @Rd 3max

10) Two wires made of the same material and having the same volume are connected in series. Their
cross sectional areas are in the ratio 1:3. If the thicker wire has a resistance of 20€2, then the
equivalent resistance of the series combination is: / THI YT Td 9HME d L 33[ arR goft #
IS B 1 SPT SIUR P AP, 1:3 & Jura A 21 afe 3R 1 ar &1 ufaRie 200 B, ot Joft
TS P ged UfaRIY 3

1. 180 Q
2.200 Q
3.40Q

4.220Q

Correct Answer :-
e 200Q

11) Two charges -4 C and +4 C are placed at 10 cm apart. The potential at the center of the line
joining two charges is: / &1 START -4C TF +4C 10 AW Pt g8 W= @ &1 S A=z &1 e areft
Y@ P g W fava g

1.-2V

2.4V

3. Zero / [
4.2V

Correct Answer :-

12) Two particles in air are separated by a certain distance ‘R’. Their masses are M; and M, and

they have equal and similar charges ‘Q’. If the resultant force acting among them is zero, then the
value of Q is: / AT H &l HUI TP AT g R W &1 $7% UM M, T M, 9T SR JHHE T
e 3MAY Q 71 afe 39% e Frivd ufvond sa Y 8, @Y Q ST A B:

1. V(4ne,GM | M,)
2. 1/(4ngp) (GM{M,)

3. 47'[80GM 1 M2



4. 17 (4neg)(GM | M,)

Correct Answer :-
L] \/(47I80GM 1 Mz)

13) A diffraction grating is an arrangement of large number of equidistant and parallel i

Ue fad 3T 9t Wen & AHgIRI qUT AR B UT TERT AN 21
1. lines / Gfrdl

2. partitions / faHTSHI

3. segments / T8l

4. slits / XDl

Correct Answer :-

. ints/i@III@ﬁi'

14) A device used to measure the potential difference across any two points in an electric circuit is

k.HO%VIl as/WWmUﬁWﬁﬁﬁgGﬁWﬁWW%mmﬂmﬁﬁw
g e:

1. Voltmeter / JrecHeR
2. Galvanometer / Wﬁ?
3. Generator / @I:IQEQ

4, Ammeter / Qﬂlaq

Correct Answer :-

« Voltmeter / AlecHIeR

15) For a constructive interference to take place between two monochromatic light waves of
wavelength )’, the path difference should be: / GE3| a’fﬁ %2 a Wuﬁw WM& " Udh
TS AfdeRul & g, vy siar g 71 e:

1. 2n-1)n/2
2. 2n-1)r/4
3. (2n+1)A/2

4. NA

Correct Answer :-

e NA



16) An electric bulb of 100 watts when kept on for 12 hours will consume an energy of: / 100 die

11 U faoiell 3T 99, 12 Hel & [T a1 v@H WR 3a-1t Soll &1 @ud HO:
1. 1.4 kWh

2. 1IkWh

3. 1.2kWh

4. 0.12 kWh

Correct Answer :-

 1.2kWh

17) The ratio of the radii of the nuclei 3AI?” and 5, Te!? is: / 134127 Td 55Te!? A1t 3t Brear
BT 3T B:

1. 13:52

2. 14:73

3.27:125

4. 3:5

Correct Answer :-

18) The current through a 1 mH coil drops from 5 A to 3 A in 1073s. The emf developed in the coil is:
/TH 1 mH FSal A TR aTel URT 1038 T 54 I 3A T A<l 81 Foail | fawRia fagaa
TP I (emf) B

1.2V

2.8V
3.2x 100V
4.8x10°V

Correct Answer :-
« 2V

19) The liquid drop model of the nucleus can explain: / A4S F15q 9q aisd SAD| TS B
HH AT §:

1. Gamma decay / TTTHT &
2. Nuclear stability / TP R



3. Nuclear fission / AN fAge
4. Nuclear fusion / ATTHD T JAT-

Correct Answer :-

« Nuclear fission / ATTHD T [T S

20) The critical angle of light passing from glass to air is minimum for: / CACE: aTg?ﬁ‘T\_rlﬁ qreft

THT P Hifeed ST =T F g Taq gar &:
1. Green / @I
2. Red / dldd

3. Yellow / Tid

4. Violet / STt

Correct Answer :-

e Violet/ aTI:ﬂ

21) The horizontal component of earth’s magnetic field is zero at: / YT IR q&ﬁ & W & BT

afost ges A BT 3

1. 45° Latitude / 45° Sf&ITST

2. The geographic poles / fas gd

3. The magnetic equator / ﬂﬁﬂ'ﬂ’q Q{HW

4. The magnetic poles / W gd

Correct Answer :-

 The magnetic poles / W gd

22) The focal length of a convex lens of glass of refractive index 1.5 is 2 cm. The focal length of the
lens when immersed in a liquid of refractive index 1.25 will be: / U 1.5 T Hid & U 3dd
A BT GBI 2 AW B 1 9 X AP 1.25 A4 TP avad W GaIAT ST, 99 A BT
BIH BT GRIT:

1.2.5cm /2.5 9Ht
2. 5cm/5@7ﬁ
3.1cm/ 194t
4. 4 cm/4TH

Correct Answer :-

. 501’11/5%



23) The displacement current density across a parallel plate air capacitor which is being charged at
the rate of 10'2 V/m/s is (¢, = 8.85 x 10"'2 C2 N'! m2): / HHiaR We arg Wi, R 10'2v/m/s
R T AT T wIraT B, W AT 4RT 77 FHT: (g = 8.85 x 1072 C2 N m2)

1. Zero /U

2. 8.85 A/m?

3. 10*2 A/m?

4. 102 A/m?
Correct Answer :-

. 8.85A/m?2

24) The approximation that a diatomic molecule can execute rotations and vibrations independently

is knov%n as: / T8 AlAwe ol fF f§ wame 3y guiv o $u= &t Waax = u | fAoarfea &=
Hhdl &:

1. Born approximation / S gfaemed

2. Paul’s approximation /tITG?ﬂ gfaded

3. Franck-Condon principle /ﬁ'r—mr e fFgH

4. Born-Oppenheimer approximation /aﬁ-&hﬁqﬁwﬂﬁw

Correct Answer :-

« Born-Oppenheimer approximation /aﬁ-&hﬁqﬁm Tfaded

25) The variation of magnetic field ‘B’ due to a long straight current carrying wire with distance ‘r’
from the wire is represented by the curves given below. Select the correct curve. / ¥RTdg P ard
TS dd WY TR &S SR GIDH 1 &7 «B” Dt fuaar o R A 9Dt g o’ &1 - a6 g1
ST T | A I5h BT 94 DY |



Correct Answer :-

26) The observation of colors in soap film are due to: / ATg- e ﬁwﬁ%ﬂ&m DI PRUT ﬁ?ﬂ %:
1. Polarization / dUl

2. Dispersion / giRaygur

3. Diffraction / fdad

4. Interference / AfDHRT

Correct Answer :-

« Interference / BT

27) The angle of incidence for a ray of light at a refracting surface of a prism is 45°. The angle of
prism is 60°. If the ray suffers minimum deviation through the prism, then the angle of minimum

deviation is: / T fioq & SUad® Y6 W WHTRT &1 TP fHR01 BT Mue= HI07 450 3| s &7
DT 600 31 e s & Areny | fH=v1 &1 <gAaH faa= giar 8, 9t =Had faaa S g:

1. 30°
2. 60°

3. 45°
4. 90°

Correct Answer :-

e 30°



28) A 0.5 m metallic rod is being revolved in a vertical plane about one of its ends with an angular

velocity of 5 rad/s. The earth’s horizontal magnetic field is 0.2 x 10 T. The emf induced across the

ends of the rod will be: /wo.sﬁm%ﬁgﬁwaﬁafwmﬁwﬁﬁﬁmmmsm/
A & Siofta 37 A garan wrar 81 gt S1 fas geaia 87 0.2 x 104 T 31 8 F 3R W URka
ST (fagud grasia &) &

1. 50 mV
2.5mV
3. 125 uvV

4,25 uv

Correct Answer :-

29) In AND gate, the output Y is 1 when the inputs A and B are: / “AND” e ﬁ, Y _GI'%%QT
(3ATITYT) 1 BIaT ¢, &1d fa (37Ye) A Td B & €

1. A=1,B=0
2. A=1, B=1
3. A=0, B=0

4. A=0, B=1

Correct Answer :-

30) A convex mirror has a radius of curvature of 6.0 m. If an object is placed at a distance of 9 cm
from it, then it will produce a magnification of: / T 3¢l E'd'UT &1 gepdl a1 6.0 Ht % | b d¥]
I 9 T B gt W I 15 81 T8 A smae Ieuw e

1. 0.25
2.0.15
3.0.35

4. 0.45

Correct Answer :-

 0.25

31) A piece of wire having a resistance ‘R’ is cut into six equal parts. These are then connected in parallel
to get an equivalent resistance of ‘RD’. The ratio of R!/Ris: / R yfeRiy aTd IR & Udh m Ca B
ISR YA | Hrel T {6 5% 'R’ & I0ged UiRIY U &1 & g 9aiaR siteT ™11 a9 R1
/R T 3JUTd B



32) If the kinetic energy of the particle having wave length ¢ 1’ is increased to 25 times its previous
value, then the change in de-Broglie wavelength of the particle is: / "A' AT et TH HUI DI Tferol
St # afe gd &1 garr & 25 71 $1 gfg 1 TR, 9 For b S-aivelt aeresf 7 ufada @:

1.04 A
2.025x
3.0.1A

4.0.8 A

Correct Answer :-

o« 0.81

33) The velocity of light in a medium is 1.5 x 108 m/s. The critical angle of the medium for a ray

going from the medium into air is: /wmmﬁummaﬂ 1.5x 108 Iﬁ@%l mmﬁa'rgﬁ
STl U fHUT & HISHH P1 Hifdd ST &:

1. 30°
2. 60°
3.45°

4. 90°

Correct Answer :-
e 30°

Topic:- Chemistry



1) Identify the compound B in the given reaction. / &1 215 JEIhdr # difEe B & IEaI=0|

HaC——CH—CH;

| fE EMnQ. = A Spdalime -1
pa
Na”
i
-
1.
OH
s
e
2.
3.
COOH
i
o
4,

Correct Answer :-

2)
An alkvl halide with molecular formula CsH;Bron dehvdrohalogenation gave twoisomeric alkenes “A°
and ‘B° with molecular formula C:H;;. On reductive ozonolvsis, *A° and ‘B’ gave four compounds
CH;COCH;, CH;CHO, HCHO and (CH;);CHCHO. The alkyl halide is: / 3T9Tider 7 C:H;;Breh U

Tedhlgel ellss o [dgTssloelloa (TSEEstgelsi=1ald) 9 H0Idd A CsHy & & FATad!
Tehd ‘& 3R ‘B e fowed eEesEy v oA i BT & IR g
CH:COCH:, CH:CHO. HCHO 3R (CH:),CHCHO f¢3r| Tessd &S &:

1. 1-Bromo butane / 1-@'@[@3\%‘?
2. 2-Bromo butane / 2-SITHI K’q\%:l
3. 2-Bromo-3-methyl butane / 2—@’@[—3—&[@@?
4. 2-Bromo-2-methyl butane / 2—@'@[—2—1%[?4@55@7[



Correct Answer :-

e 2-Bromo-3-methyl butane / 2-aﬁu‘r-3-ﬁrm§aq%q

3)

What will be the equilibrium constant of the cell in which the following reaction takes place at

298 K7/ et & aFg [ = gen, e e sifafear 298 K W & &t §7
(R=8314TK-'mol-! ) -2Fe*(ag) +21-(ag) = 2Fe?* (aq) + La(s) E°=0236V
1. Antilog 9.7826 / USTANT 9.7826
2. Antilog —9.7826 / USdNT —9.7826
3. Antilog — 7.9826 / TSTANT — 7.9826
4. Antilog 7.9826 / TCTNT 7.9826

Correct Answer :-

« Antilog 7.9826 / TSN 7.9826

4)
What would be the ratio between K, and K, for the given reaction? / &1 15 HEITdar & TOIT K, 3R
K. & d/F & =11 g

c:H:.E.—-EH}E. = C:Hﬁ.g.

| ®
2.1.0

3. RV
4. (RT)?

Correct Answer :-

5) Sodium rosinate is generally added in the soap because it: / ifgaw eiNe, mg;rﬁ'
HIHTI: STl ST § TP I8 |

1. Produces rich lather / HRQR T IdTed BT §
2. Gives antiseptic property / RS TUT Ual dl g
3. Prevents rapid drying of soap / g &1 doil ¥ @ I AhdT ?



4. Acts as a perfume / U IRWJH CAKRE BT Bl %

Correct Answer :-

« Produces rich lather / HRQR ST ITd HRT §

6) If an endothermic reaction is found to have +ve entropy change, then the reaction will be:

/ Tfe T SR Srffehar # +ve TerdY ufvad=1 urar w4, < srfdfsrar Guil
1. Possible only at low temperature / bdd (4% A0 TR HHd

2. Possible at any temperature / foat oft arg oR dyg

3. Possible at high temperature / 3= A1 TR YHd

4. Not possible at any temperature / fodit oft a1 WR Tva =7t

Correct Answer :-

« Possible at high temperature / 3= dId TR HHd

7) Which one of the following is present in the chain structure of silicate? | Faferdbe &t CEER ]|

e | Frafafaa § @ o149 a1 ue Sufyd giar g?
1.(Si0s* ),

2. (Si05% )

3. Si044

4. Si,0,~

Correct Answer :-

8) The AT/CG ratio in human being is: / T8I & AT/CG 3uTd glaT 8:
1.0.39
2.1.52
3.1.25
4.0.93

Correct Answer :-

e 1.52



9) The sequence of bases on RNA molecule, synthesized on the GCATA strand of DNA is: /
DNA & GCATA IYd TR HRAMNE, RNA (U] TR &RY (§9H) HT 4 3

1. AYCGC
2. CGTAT
3. TACGC

4. CGUAU

Correct Answer :-

« CGUAU

10) If the values of standard reduction potential increases in going down the series, then the
character of metal ./ Tfe AT 3raaad fava & 9, §ar § i 91 R ded
gt urg a1 AT |

1. electronegative, does not change / 25U1 ﬁg&ﬁ @ﬁﬁ@ﬁﬁﬁﬂ), gfafdd et grar
2. electronegative, decreases / F5U[ ﬁg&ﬁ @ﬁﬂ@ﬁﬁﬁﬁ), gedi g

3. electropositive, increases / YT ﬁ_g'qﬂ @a@uﬁm, dedl ?

4. electropositive, decreases / Y ﬁgﬁlﬂ (sa?ﬁqu, gedi g

Correct Answer :-

« electropositive, decreases / YT ﬁgﬁlﬂ (sﬁaefrﬁﬁlﬁa), gedl g

11) If the temperature coefficient for hydrolysis of ester by NaOH is 2, then the activation energy for
ten degree rise of temperature from 298K is: /Tf& NaOH GIRT TR & ST & ﬁl'l'{ GIERIG)
T[UTI 2 §, a1 298K & AT9HTH & o f3lt o1 9fs & g afspaor =it g

1. 42.74k}/mol / 42.74 THaISE ATH ST
2. 52.89kJ/mol / 52.89 fh a3
3. 5.28kJ/mol / 5.28 T aS[@/ATHSI]
4. 4.27k}/mol / 4.27 T alISa /AT

Correct Answer :-

« 52.89kl/mol / 52.89 faraI[cl/ATH3]

12) Which of the following is NOT a dipolar ion? /ﬁ'ﬂﬁl’@ﬁﬁﬁ aﬁqwﬁaﬁr DK T-Iﬁ%"
1. p-Aminobenzoic acid / U-ufiAesis® 3id
2. Aminoacetic acid / Qlﬁ:iIQ Jfew 3



3. p-Sulfanilic acid / T-GewhHTSee 3T
4, AIanine/Qa:lls:l

Correct Answer :-

« p-Aminobenzoic acid / U-TfHAEIR® 3

13) Which one of the following compounds is diamagnetic in nature? /g ® ¥ o9 91 9iffre
woid # ufagasid g2
27
1. [CuCly]
2. [Ni(CN),)*
3. [Fe(CN)g]*

4. [NiCl,1*~

Correct Answer :-
o [Ni(CN),>

14) Which one of the following 4 pairs of Z values represent “p block” elements? / Il ﬁ&ﬁ[ Z u=i

F4TH AY, DT A TS "p SP" ded] B USRid T8 Har g2
1. 38,55
2.47,39
3. 60,71

4.32,53

Correct Answer :-

15) A solution of ‘X’ (molar mass 60 g mol'l) in water boils at 100.18°C at the atmospheric pressure.

If K¢ and K, for water are 1.86 and 0.52 K kg mol! respectively, then the freezing point of the

solution is: / ST H X (ITH 3MU] YR 60 g mol™') BT fAea, IRIHST 19 U 100.18 °C TR U |
Il g1 afe urit & fore K, 3R K, FH=T:1.86 3R 0.52 K kg mol'! §, @Y farera=1 &1 fewiss g 2

1.-6.54°C
2.-0.654 °C
3.65.4°C

4. +0.654 °C



Correct Answer :-
e -0.654°C

16) While extracting copper from its sulphide ore, the metal is finally obtained by the reduction of

Cu,0 with: / Td (PIIR) Pt IUB AAPIS AP A BT & SR, Cu,0 F FAIHIV & GRT
3faa: =1 uTg e 9t S B

1. Tron(II) sulphide / AB(II) THRZS

2. Copper(I) sulphide / PITR (1) TP S

3. Sulphur dioxide / TR SZ3HRIZS

4. Carbon monoxide / BT 'mq)f\ﬂ\lld{-llis

Correct Answer :-

« Copper(I) sulphide / BITR (1) TTHIZS

17) What is the number of moles of conc. HNOj3 required to oxidise 0.75 moles of P4 molecules to
orthophosphoric acid, the other products being NOy(,) and water? / P4 \3'I'l'{[~3'ﬁ $0.75 ‘JITHGI'UJGﬁ G|
ATYTHIEPIRG 3T H, STRitpd B & Y maae® Fifed HNO,; & TTHINISM P T 1
B, ST 37 IUTE NO, (i) 3R &7d &2

1. 15 moles / 15 UTH 3]
2. 10 moles / 10 UTH 3HT[
3. 5 moles /5 UTH 3]

4. 20 moles / 20 UTH 3]

Correct Answer :-
e 15moles/ 15 UTH 3{7]

18) What would be the product obtained by the process of “reforming” when n-heptane is heated

(773K) in the presence of Cr,03? / SId Cr,0; 1 IUFRIFT &, n- 8 (773K) B 7T fHar Srar gt
«FUR” BT UiehaT & GRT YT ITG T T2

1. Cyclohexene / RIEENIRESIG]
2. Cyclohexane / m%@:f
3. Benzene / éﬁﬂq

4. Toluene / a@;ﬁ

Correct Answer :-



» Toluene / a?{ﬁ

19) The quinhydrone half cell is reversible to: / %I?E@q 3t I 59 forw IepHviiy &

1. Hydroquinone/%'l%?;ﬁﬁﬂ?ﬂ?
2. Quinol / f@HTd

3. Quinone / fom
4. H*/ H*

Correct Answer :-

20) The decreasing order of bond energy of halogens is: /%Fﬁ'\_rl':ﬁ: P MTEY FHoIT BT Uedl HH gial

1. Cly,> F5 >Bry>ly
2. C|2< Bl"z <F2<|2
3. Cly> Bry >Fy>l,

4. F5> Cl, >Bry>l,

Correct Answer :-
e Cly>Bry >Fy>ly

21) The heat of neutralization of HF with NaOH is -68.6kJ/mol, much higher than the standard
value of -57.3kJ/mol. This is due to: / NaOH & HTY HF &I {ARI I GERLY| I, -68.6kJ/mol %, Ell
-57.3kJ/mol & HITH HIF | BB AfUP g1 SHPT PRI &:

1. Hydration of F- ion in aqueous solution and the process is exothermic / et f[ded= | F- ion &1 STAdioH

3R UhH, SAT 2|

2. Hydration of Na™ ion in aqueous solution and the process is endothermic / STeid f[de = H Nat ion &1

SIS 3R UehH, SHSATHIN B |

3. Hydration of OH ion in aqueous solution and the process is exothermic / STeid fdeda= # OH- ion &1
SIS 3R UehH, SHSH1ET g

4. HF behaves as strong acid / HF Ud¢l 3] Gl dare ST Bl %I

Correct Answer :-

« Hydration of F- ion in aqueous solution and the process is exothermic / STCIId fATT H F- ion BT SIS

3R UshH, SHIEW B



22) The reagent which converts lactic acid to pyruvic acid is: / 9§ G-Iﬁ-lm, o dfdes o Y
TS a® 3T | FUTaRd HRdl 6:

1. Fenton’s reagent/ﬁv_cﬁ:[ fHHE

2. Tollen’s reagent ) Sl 3fNHHE

3. Bayer’s reagent / 93R HfYHHS

4. Grignard’s reagent / FRTTS Sifiemvies

Correct Answer :-

« Fenton’s reagent / thal 3N H®

23) The half-life of the decomposition of a compound is 20 minutes. If the initial concentration of the
compound is doubled, the half-life period is reduced to 10 minutes, then the order of the reaction is: /

TS i & 3rque+ &1 Jtf-siia 20 fire 31 afe 9iffie &1 yRfie Tigur g o fear o,
o sref_sfa= ge@r 10 e g wian 8, sifufpar s1pa 8

1.15
2.2
3.1

4.0

Correct Answer :-

24) The standard EMF for the Daniel cell is 1.10V at 25 degree centigrade. If 0.1M ZnSO4 and
CuSO4 solutions are used in both the half cells at 25 degree centigrade, then the EMF of the cell

reaction is: / SUd Ad & oY 25 f&H Vs W A fagaaaes sa ETuuw) 1.10v 21 af
0.1M ZnSO4 Td Cus04 faera= &1 Iud, 25 f&Ift s w41 oref A A forar wirar 8, at A«

3ififora o1 fagaq-are® va (STAT®) EF:
1.1.10V
2.-1.10V
3.0.11Vv
4.-0.11V

Correct Answer :-

o 1.10V



The amine that gives N-nitrosoamine on treatment with HNO, is: / THIgT | HNO, & 1Y ITAR

H TR N- ATS¢ NITHTS T &:

: MNH—R
1.

e — o —g8;
NH,

: NR5
Correct Answer :-

MH—R

26) The number of waves made by Bohr electron in its fourth orbit is: / ﬂﬁ'*‘f hET ﬁaﬁﬂvsﬁaﬁ'—r

& GRT TS TS 1 B HEA B 3
1.5
2.4
3.2

4.1

Correct Answer :-

27) Identify the compound for which Kjeldahl’s method of estimation of nitrogen CANNOT be used.
| 98 T uga, forad fie Argeioq & sead 3t besta fafd &1 3% 71 frar <
T 8?2

1. Tertiary amines / Jaiiddh THA
2. Nitro compounds / :|I$Ej| BIfCY

3. Cyanides / dIIIS S



4. Amides / THISS

Correct Answer :-

« Nitro compounds / :llgijl BRI

28) In cyclotrimetaphosphoric acid, the oxidation state of phosphorous is: /

AISTAICTSHCTH ITBIND 37 H, WINPT B STRITHRUT EaRAT il 3:

4. +5

Correct Answer :-

29) A compound ‘A’ has the molecular formula C,CIl;0H. It reduces Fehling’s solution and
on oxidation gives a monocarboxylic acid. ‘A’ is also formed by the action of Cl, on ethanol.
The compound ‘A’ is: / T TS ‘A’ BT TUIFAS A C,Cl;0H 1 T8 BT & faera=T i
AP BT ? 3N TRNBIV HI1 W TP WHDIaiaaiers e T 8 | ‘A’ ATd W Cl, B
forar & g off FAfdfa gar 31 A A’ &:

1. Trichloroacetic acid / CEFIRITRICH S

N D v

2. Trichloro ethanol / TIEGARI 3T

3. Chloroform / FARIBTH
4. Chloral / 3ARd

Correct Answer :-

« Chloral / 3RS

30) In which of the following species are all the bond lengths NOT equal? / Frafafea o 3 e wizis

# 9t ais, TRTeR da1E & 5 §1d 72
1. NH,"

2. SF,

3. SiCly

4, X€F4

Correct Answer :-



31) Kcl forms NaCl type of lattice. If the distance between K* and CI" is ‘X’ pm, then the edge
length of a unit cell is: / KCI, NaCl &R &1 STa® 9141 3, afe K+ 3R CI° & &g &1 g8 'x’ pm

2, ) U TS AT & SR B aTs gnft:
LEPm

x

pm
2. 2

3.2x pm

4. 4x pm

Correct Answer :-

32) The crystalline substance on being heated gradually first forms a turbid liquid at constant T
and still at higher T turbidity completely disappears, this behaviour is a characteristic of

substance forming____ /’im' @eﬂﬂ mmﬁwﬁ@mTwwwﬁaﬁ
(aﬁsi%ﬂ%)aﬂm%aﬁ?ﬁmew faaar gt avE | @9 g1 A1l 3, 98 AGER, U
& 91 BT TP 0T 8

1. Allotropic crystal / 3R] e d

2. Liquid crystal / &4 fohed

3. Isomorphous crystal /W@WW@
4. Pseudo crystal ) B fheed

Correct Answer :-

« Liquid crystal / 4 foheea

33) The geometrical isomerism is exhibited by the oxime of which one of the following

%ompounds? | Snfirdta JHTagadn, fAefaRad # @ feg g9ifte & siifeas gR1 weiia &1 Srdt
?

1. Diethyl ketone /STE'Q'&IT‘T ARG
2. Formaldehyde/tb—I'J:rl'f(';ElE'IE—&r

3. Acetone /Q@_C:F[

4. Benzaldehyde/ﬁ%@ﬁg

Correct Answer :-

e Benzaldehyde /éﬁ%@ﬁg



Topic:- Mathematics

1) tan‘l( COsXx ):?

1+sin x

LA
4 2
1.
i'r+x
4 2
2.
x
2
3.
B X
2 2
4.

Correct Answer :-

o
4 2
2)
tan(l—r—x} - L
Letf(x)=————, for X & — . Find the value which should be assigned to / at X =—, so thatitis
cot2x 4 4
it tan(f—x} )
continuous. / HT eﬁ‘rﬁr&rﬁsx;&ﬁ; ﬁrnrf(x)=T HELGEGEIRGIGETS
cot2x
W}L:E W far e Gar o aifge, arfe o B s 8
1
2
1.
2.1
3.2
4.4

Correct Answer :-

b | =



3) Find the solution of Iy Lreoedy _g. ) L+ 20 _ g g ot A

1-coslx dx 1-co=lx

l.tany+cotx=C
2.tanx—coty=C
3.tanxtcoty=C

4.tany—cotx=C

Correct Answer :-

e tany—cotx=C

4)
If A and B are two independent events in a sample space, then P(4/ B ) equals to: /| TG A IR B, U

giieel HAfe (dFaa T99) # ¢ Tada "I &, od P(4/B) FFa & et &
. 1-P(A/B)

1-P(4/B)

3.1-P(A/B)

4.1-P(A)

Correct Answer :-

5)
If the coefficient of x* in the expansion of (1 4+ x2)™is 10, thenn=? / T (1 + x2)» F UEOTHx* &I

d[UTieh 10 &, od n=7?
1.3
2.2
3.4

4.5

Correct Answer :-

6)
The value of §191 4+ 102 4 108 4 ... +j1083g. /1014 ;102 4 ;103 4 . = 4108 T A B



7) Sx+4yv Sx+4v

? ) W (x+iy)d=4+5.dd————=7

xy(xZ —y2) o

If (x + iy)? =4+ 51, then

xp(x2 —y2)

1.1
2.3
3.2

4.4

Correct Answer :-

8)



If[;'f ﬁa] such that A2=] then cc®+ §y=2 / ??Iﬁ'[[

’E]SH U £ T AL, dd o2+ gy="

o
¥y —a
1.1

2.2

4.0

Correct Answer :-

10) The domain of the function v = .;—_A is: [ Theld v= ﬁ FT galT (58) &

Vizxl S by

. [0.02)
p, o1l
5, e}
N (1.e2)

Correct Answer :-

[:_ oo, D}

11)
Find the value of 7 for which the volume of parallelepiped formed by the vectors § +Aj + k. j+ 2k and
Af + k is minimum. / . &1 Al AT &, e ow Gildel ¢ +4j + k. j+ak Tdai + k gar’r
AT THATOR YColh $T AT #A0H B

1
V3
1.
3
, v
\3



-
mll =

4.

Correct Answer :-

1
3
12)

The area lying in the first quadrant and bounded by the circle x2 + 2 =4 and the line x =+/3 v is:/ 94H
Tt # Afed vd ged x? +y2 =47 W@ x =43y ¥ UREd &7 &

wl A

=

™
4.5

Correct Answer :-

) Iff:f (x)dx=4 andf;(S —f(x))dx="7.then fz_lf[x)dx is:/ afe

[} f dx=4avwa [[(3—f (x))dx=".aaf, f(x)dx&

1.7
2.4
3.-5

4.5

Correct Answer :-

14 If [ f(x)dx =f(x) +C. then: / AfE [ flx)dx =f(x) +C, dn:



1. f(x)=sinx
2.f(x)=x
3.f(x)=¢*

4.f(x)=aconstant/f(x)=@@ﬂ'i$

Correct Answer :-

15)
The minimum vahie of 84sec @ + 27cosecd when 8 lies in (0, 1—1) is: / 64sec§ + 27cosec 6 BT wdaAdH

HI, =d 6, (0&)#%&1?%:

1. 250
2.4
3. 125

4.27

Correct Answer :-

16) Feosdx =14 ksinZxcos?x, thenk=? | A& cosdx = 1+ ksin’xcos?x, T k="

1.8

17
) Ifdcos lx +sinlx =x  thenx=" / AR 4cos 1x +sin~lx=n  ddx="



3.1

4.0

Correct Answer :-

V3
2
18)
1 1 2
LetA= [2 2 4] bea 3 x 3 matrix. Let V= {(x, v, Z)| X, v, z real and determinant A =0}. Then the
X ¥ E
2 d, 2
dimension of “V" as a real vector space is:/ =l [ A=|2 2 4-] Udh 3x3 3R #AfgFm Bl
o =

A ot & V = {(x.v.z)|x v.z adid® Ud IR A =0} Od davdids (@ TAse
(deFeY TUH) & 9 7 “V° & HAH b:
1.1
2.3
3.2

4.0

Correct Answer :-

19)

I0T &

1. 30°
2. 135°
3. 60°

4. 45°

Correct Answer :-
e 45°

20) . in46 + 2 sin 86 + sin 126="7



4cos2285in 88

1.
, 4co528sin 86
2c0528 sin BA
3.
4co52285in 48
4,

Correct Answer :-

4rps228sin 80

21) In an ellipse, the distance between the foci is 8 and the distance between the directrices is 25.

Then the length of major axis is: /Wiﬂ'ﬂqaﬁ, W—W (Qﬁ'\"'ﬁ') amwgﬂ 8 @ﬁ'qﬂTGﬁ
(ETRfaeH) & 7 gl 25 81 99 YA 318 Pt AETs 8

2042
42
3042

=
4. 12

Correct Answer :-

22) A line passes through (2, 2) and is perpendicular to the line 3x +y = 3. Find its y-intercept. / T

I@T (2, 2) | ToRAT 8 3N W 3x + y = 3 & Tadd 8 | TP y-3id: TS JTd B3|

|

W | L

Correct Answer :-



23) The n'? term of the series 6+66+666+ is: / AU 6+66+666+ HTnd Ug

B

6

E{mn )
1.
2.5x 11™!

3. 6x 9!

4. 6x 10!

Correct Answer :-

24) A and B throw a dice each. The probability that A’s throw is not greater than B’s throw is: / A
3R B, AP TSP UidT HobdT 8 | 3TP! T YT dT & fP A §RT B 7T U &1 |, B §RT bd
T U & A 9 3T 81 8:

1

25) Words are formed with the letter of the word TRIANGLE. The ratio of the words starting with
T and ending with E to the words ending with G is: / ¥eG TRIANGLE & 3{&RY | eq §-TT 7T &1

T Y TG E A 3id 811 919 Xeql o7 G A 3d 811 a1 Xegl & 1Y ST &:



1. 8:3
2.7:1
3.3:8

4, 1:7

Correct Answer :-

26) The distance between the planes 2x-3y+6z = 5 and 6x-9y+18z +20 = 0 is: / 2x-3y+6z =5 3 6x-

9y+18z +20 = 0 HHAE! &b a1 BI g1 &:

35
, 2

a5
5, %

g

5
3,

35
4. &

27) The ratio in which the line 3x + 4y + 2 = 0 divides the distance between 3x + 4y +5 =0 and 3x +
dy —5=0is: /T8 AU T &, PRIH @I 3x + 4y +2=0,3x +4y +5=0 3R 3x +4y-5-0F
i ot gt &) fauriorg st &:

Correct Answer :-



28) There are 3 sections in a question paper each containing 5 questions. A candidate has to solve
any 5 questions choosing at least one question from each section. Then the number of ways he can
make his choice is: / T WY U H 3 GEWT%@W GIT’-I'I"T'&I'SU’J%'I TP SWIGAR &I Ud®
SIUTT A $U A FH TP UY AP A 5 U4 B 56 BT 8| a1 37 a¥i | I "= F a1 g,
o a7 31Ul wRig &1 999 F Tl 6:

1. 1050
2. 2250
3. 1850

4. 1300

Correct Answer :-
e 2250

29) x+2 2y—7 05—z

The equation of line passing through A(-1,2,3) and parallel to 2 6 6 is:/A
x+2 2y—-7 b5-—=z
-12,3) AeRAarefiTg 2 6 6 o TAIC YW &l TATERT b:

2 3 6
1.
x+d. ¥y 2 =2—3
2 3 7 -6
2.
x+1 2y 2—3
2 3 6
3.
x+1 y—2 z—3
2 s 86
4.

30) The equation of normal to the curve y = sin x at (0, 0) is: / (0, 0) UX dh y = sin x * 'I%I'E UATHY

WUT%:

1.x-y=0

2.x+2y=0



3.y=2
4.x+y=0

Correct Answer :-

x)7 a;mmfr,xs

7
31) In the expansion (1+x)7, the ratio of the coefficients of x> and x* is: / 1+

T4 x* & OIS BT 3UTd B
1.3:4
2.2:3
3.2:1

4. 1:1

Correct Answer :-

32) The 5™ term of the GP is 2. The product of the first 9 terms is: /'{[UﬁER' Q?ﬂ (\_rﬁ'l'ﬂ) 1597 g2
81 UYW 9 U1 HT UM g:

1.512
2.32
3. 18

4. 1024

Correct Answer :-
e 512

33) A family of 4 brothers and 3 sisters is to be arranged for a group photo in a row. In how many
ways they can be seated, if 3 sisters always sit together. / 4 ﬂ-ns‘lﬁ Td3 m & U uf¥ar &t Udh
g aR & fore ue dfea o sqafeud far wirmr 81 5% fovam il & s s a&an g, afe 3
T+ U TP ATY Sl 7|

1. 720
2. 5040
3. 4320

4. 40320

Correct Answer :-



34) 5 5
If [ @) dx = 7(5)3 - 7(-2)3, then f (x) is equal to: /!TI%JF-2 fx) dx =7(5)3-7(-2)3

a9 (x) e & RER :
1.7%°
2. 3x°
3.3x?

4, 21x?

Correct Answer :-



